él-ﬁ'Ex'Ponen‘hal % sz&l‘;""\MfC Funcdions

x a = c.ons'f'av\‘f'

The e_XPOV\en'HaL ][u.mo-l—?on j= a.\_/ a>0, azl

A A
y=a*
* (a>1) y=aX
. (0¢a<l) 1
—— ——
1 > X 1 > X

Domain = (-00, 0) , R&nse = (o0,00)

I-,'s inverse is +the )Cu,wc_-l-Iom ;\5=Zaja(x).

5: &.x ) jfju(:j) = X

4 Ia

=log, (x >
y=log, (x) (o 1) 5=|o5°‘(x) (ocaci)

"30("*) =1

> X > X

t * ' @ 1\'

Domain = (0,00) ROMSC = (-0, )



Ex: loﬁ,o(looo) = 3 Since 10° = 1000.

|°3?_(I/“i) = - Since 2-;\: 2_3_=?

Exfoneml Laws LoJ Laws
a.bﬂ; - Q.bac Ljo.(bC') = IO\ja(b) + foja_(c)
b
b-c _ & _
0= e Loy, (%) = Log, (b) — Log o (<)
(&b)L - OLBC ,Zo‘jq(bc) = - j?jo.(b)

& Solve '\'Le -Fol(ow;,:j,
(o) ,Q?jé (3x) = &

2

Solution : ,aoje(.‘ﬁx):;l 2 G * 3x

=D X = 36/5 = [l12

(5> ﬂoj7 (X) + 1037 (X+G,) =1

Solution: foj_,(x)J. ﬂ"j7(x+6) = 1




= fe':j7(><(x+é)) =1
= 7%= X(x+6)

=) x1+6x_7:0

-

( ﬁa&cx) & 1037(x+c) are
/ not defined when X=-7
i but X=1 is okaJ! J

o X=1 is +the on(b( Solution
o

= (x+7Xx-1) = O

= X=-7 or X:=1

Siace a* and [‘fja(") are inverse, 1t follous +hat

Lo
G 9a(*) =X Z%a(a.x) = X
34oq_(x)
E_X'- S?mPl-.fJ 5 Js .
3
Selution : 3lgs (0 5’03,(x) - [

.SPGC"\&L Base: e~ 271823 ... (Eule.r.'s Constant)




NE

We c‘efme a=e +o be the unzi\ue

Aumber Such that  the ‘Sm?‘n of

X

J=a" has Slpe 1 af x=0.

A\L&rnahavel3) € Can be dcfmed A(j the ]Co/low:nj

gumws Limit

e - Lm (1+8)

N— 00

We cald Loje(x) Yhe notural ﬁajo,ri-\fl,\m ond Wrife

J4
:j:ln(x)

La(x) = faje(x) .

E,X'- So\\l& ivx(“‘ln(xﬂ =3

v



L (1 La(x
.So\u,\-'-on : ‘I_V\(“’!VI(X)) =3 = C (e £9) = 63

= l"'fn()() = 6-3

= La(x) = 63- 1

= eL«(x)z e(e-")

= |y - e(e"’-i)




